Physics Problems 6 d

Name_______________________
16. A net force of 55 N acts due west on an object.  What added single force on the object produces equilibrium?

17. Two forces act on an object.  One force is 6.0 N horizontally.  The second force is 8.0 N vertically.

a. Find the magnitude and direction of the resultant.

b. If the object is in equilibrium, find the magnitude and direction of the force that produces equilibrium.

18. A 62 N force acts at 30.0° and a second 62 N force acts at 60.0° .  

a. Determine the resultant force.

b. What is the magnitude and direction of the force that produces equilibrium?

19. Two forces act on an object.  A 36 N force acts at 225°.  A 48 N force acts 315°.  What would be the magnitude and direction of their equilibrant?

20. The 168 N sign is hung by ropes that each make an angle of 42° with the horizontal.  What force does each rope exert?

21. The people who hung the sign decided to raise it higher by pulling the two ropes more horizontal.  They increased the force on each rope to 575 N and keep the angles equal.  What angle does each rope make with the horizontal now?

Answers:

16. 55 N due east

17. a.  10.0 N, 53°    b.  10 N, 233°

18. a.   120 N 45°     b.  120 N 225°

19. 60N @ 278°

20. 126 N

21. 8.4°

